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Materials
Optics Bench       +100 mm lens         Ruler         Light Source       Screen
Part 1 – Focal Length of a Converging Lens
Room lights off. Hold the +100mm lens so that it is facing a distant window.
Move the screen or a white sheet of paper until a clear image of the window forms. Measure the lens-to-screen distance 
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Estimate the distance to the window 
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Use 
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  to explain why 
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Place the light source and the screen at opposite ends of the optic bench. Ensure that each is on a convenient cm mark on the track.

Place the +100mm lens in between the light source and the screen. Move the lens until you find a clear image on the screen. Record the lens location cm mark. 
Calculate 
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which is the light-to-lens distance and 
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which is the screen-to-lens distance. Record all these in the table.
Without moving the light or screen, move the lens to a different location where another sharp image forms. Record the new lens location, 
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Part 2 - Real Image of a Converging Lens
Measure the full size of the arrow object 
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Place the lens so that it is 15cm from the object. 
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Move the screen until a sharp image forms. 
Measure lens-to-screen distance 
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Use a ruler to measure the height of the full arrow image on the screen 
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Calculate the magnification using 
[image: image18.wmf]_________

=

-

=

o

i

d

d

M


Calculate the magnification using 
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If an opaque object covers half of the lens, what do you think will happen to the image and why?
 

 

 

Try it blocking half the lens. What actually happens?
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